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By 3% 3 FN044-06 H 09 H otk - 107 b (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]
IENE O 10. 00| AHxf 420 4,200 1,620 1,477 864
H X k¥ 15. 00 | ¥ 123 1,845 1,188 1,094 918
X 5D oOJ#E 12. 00| AH%F 882 10,584 1,296 951 432
E 9 NAE 5 % 4. 00| AH%F 49 196 2,808| 2,484 2,268
E 0.20 #A%t| 2,020 s04| 108 93| 11
H % & I 3. 00| FHxf 109 327 1,782 1,454 1,080
H A ] 1L 1. 00| FHxf 200 200 756 462 216
ENIEE so0lfxt| 6] 30| 2,430 2,160| 1,890
A X Bk 5. 00 | FHx} 294 1,470 2,376| 1,830 756
B | o.00| fxr|  ss7| 4| o2| - 796| 540
= %O 4. 00| FH%f 982 3,928 1,512 1,259 540
[ 1N 5 5. 00| FHxf 652 3,260 1,188 906 702
EN R 5.00 fxt | ss2| 2,910| 1,404| 1,227 972
~7 b= b M 3. 00 [ FHx%} 27 81 1,188 1,168 864
EN .20 fxt| 615 123 13| sl 76

S " F 1. 00 | FA5%} 5 5 2, 160
e £ I& 10. 00| AHxf 366 3,660 1,350 1,063 108
A= 4 £ % 10. 00| AH %t 264 2,640 1,728 1,441 540
£ A L 10. 00| AHxf 1, 400 14,000 2,484 2,098| 1,080
PEH o X x i 10. 00| AHxf 12 120 9,180 7,830 7,560
5o x i 10. 00 | #H%f 16 160| 25,380| 5,272 3,240
LA £ ¥ 10. 00 | #H % 1,630 16,300 1,836 1,517| 1,080
=l & k¥ 4, 00| FH*} 450 1, 800 1, 620 1, 268 864

Tuyal— E % 5. 50 | FHx} 60 330 2, 592

L xoHn TS 4. 00 | FHxF 3 12 3, 024
AEMEE O 0. 10| #Hf | 4, 300 430 140 91 65
ZDEHE £ ¥ 0. 20 [ A%} 600 120 63 47 41
LU 5 % 0. 20 | FH%f 150 30 81 59 27
R HE FaK L 10. 00| AHxf 45 450  6,696| 4,706| 2,700
AN Fak L 4. 00 | FH%f 3 12| 1,620 1,260 1,080
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Rz A F1044£06 H 09 H EFER S 32 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

LEY T AU | 17. 00| A%t 3 51 972 900 756
5 U H & 10. 00| FA % 55 550 5,400| 4,554 3,996
TIUxT K B 0. 30 | FHxf 900 270 464 443 346
4 Fosk L 0. 50| FA%f 224 112 356 312 216
[EIIN i 15. 50| fHxf 1, 000 15,501 5,400 4,812| 3,672
A=Y i 10. 00| AHxf 50 500 4,320 3,942 3,564
AvavE 7 4 U ¥ | 13.00] fHxf 119 1,547 4,008 3,713| 2,268
S X & 0. 25| FH*} 3, 392 857 486 305 140




